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An ammeter is always connected in

(@) AR / Parallel

(b) 81'@?% / Series

(c) -‘B(T'_E?vlT-?HT{WHT / Series-parallel

(d) 3'5@'5?[ qFI ﬁé’ A8l / None of the above

In TV transmission, picture signal is ———— modulated.

(a) 3mgfed / Frequency
(b) T / Phase
(c) 3ATATH / Amplitude

{d) 3"?{1?& H ¥ HI$ el / None of the above

IR 15V F AT AT A I &, HH T U 1 AR F, A Gdw A

Total current drawn from four 1.5V cells connected in series is 1 ampere. Each cell supplies
ampere(s).

(@ 1 (b)  0.25
(c) 1.5 (d) 4

....... H FUR FA 8 S T AesRar & o §)

Soldering is done on joints to improve

(@) dTT-TTHZA / Tensile strength
(b) IIAVUHRAT / Resistivity

() TeIdr / Ductility

(d) dTeTshdrl / Conductivity
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5.

g™ F YR o T Aus F T o 3URIUT T YT fhar STar B

An instrument used to measure ones location in terms of coordinates

(a) Sidrog /Gps

(b) 3MSTATH/ILS

(c) UFHUTATH/FANs

(d) STHEUH /GSM

$EA ¥ Fle @1 AfREa amafea afe &

Which is a fixed frequency oscillator?

(a) T RIoe SIS / Phase shift oscillator
(b) Frafe T / Colpitt’s oscillator

(c) &<elr aifer/ Hartley oscillator

(d) shace gIfelT / Crystal oscillator

faecraa o #, e dqee W AR frar san &, sret

In Wheatstone bridge, bridge balance is considered where

(a)
(b)
()

(d)

Alg F AT F FIS U wSIEd A& g ¥/

There isno current that flows through the load
&S & ATCIH ¥ ORT yarRa g ¥ /
There is current that flows through the load

dtg Tfiea & < @ iR @ar &/
There is potential difference between load terminal

dedarardr Hr {1 3rf&Faaq @l &/

The galvanometer reading is maximum

FgaATdr fady T § fArT SueshE aemee (RAaEad d9w) &1 719 e Hidr

o
gl
Multimeter typically provides measurement of the following for a sinusoidal waveform
(@) M /Peak (b) RTHATH/ rms
() 3T/ Average (d) dlchicish / Instantaneous
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10.

11.

8 MH oIz & | 200 HH YA 3B3eYe & fAa IRy §q & aEfr gaweR
I HeAdTicleh IREA (T1) - BT ARV

For maltching a circuit of output impedance 200 ohms with a load of 8 ohms, the turn ratio of the
two winding of transformer should be

@@ 25 (b) 1/25
© 1/5 d) 5

S giforeex &t FoIT yadis & &9 & 9T fRar oiar & S rHeId: s gq I T
R g BT amar g

Transistor when used as a power amplifier is generally mounted on a metallic plate so as to

(a) s 3gfca ufafsran gurRa &g /
improve its frequency response

(b) TETAT & FER e & /
Improve the efficiency

(c) m%%mmmﬁmmﬁ%@/
dissipate thla excessive heat developed during working

(d) I9YFT Wl 14 & forsarest & /

perform all the above stated functions

[n class B amplifier, the output current flows for

(a) 3T ¥ &H g9 I %?-JT / less than half input cycle

(b) 3T ¥ 3w $oTdC Tk %Fj / more t‘han half input cycle
(c) e gel9c ush %?.":; / half input cycle

{d) HCI;UT $e9C Th %Fg / entire input cycle
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1=

14.

15.

R AT B HTFRT Toh ¥, o gwH RS . gom)

If the frequency of a radio wave is increased, then its wave length will

(@) FSIM / Increase

(b) EEIM / Decrease

(c) FIS INGA= =T8T / Remains the same
(d) &g Al FFHA / Cannot tell

HFATD & G 37T SIS HF 9NeT0T L grifar §
Testing a good diode with an ohmmeter should indicate

(a) AT 71 Teg-ai@g Fv I= W 3= gfader /
High resistance when forward or reverse biased
(b) 3T a1 27 If8a fev I= 9T Fea gy /

Low resistance when forward or reverse biased

(¢) UE-safad fhT A\ W I 9y 3R RRdedg e o= ot [
gfeRTer /

High resistance when reverse biased and low resistance when forward biased

(d) RRVT-IIfaT FT A0 | I=g 9k 3R wo-amf@a ffr 3= W @
giaIer /

High resistance when forward biased and low resistance when reverse biased

ARMN-ATEN-AEN TT 8 371 NETEF AT F=21 &

A color code of orange, orange, orange is for what ohmic value?

(a} 22 kilo ohms (b) 3300 ohms
(c) 44000 ohms (d) 33 kilo ohms

frdlt 3ustor A, Afta 7 3R areafas 7= & §9 F fag &0 .. gl AT g

In any device, the difference between the measured value & true value is referred as

€)) affé' / Error

(b) TTad A / Expected value
(c) @9T / Log

(d) TETAT / Fidelity
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16. WA feyd 3R deh es ZaRI U ued & @l Ueh & YA & T9= &

17.

18.

19.

faarR &I -—- Fer Jrar gl

The idea of preventing one component affecting from another through their common electric and
magnetic field is referred to as

(@) GIeT AT / Hall effect

(b) @ufha (IM3EM) / Grounding
(c) uRzefor (fAfegan) / Shielding
(d) HrAsw (FAfafdan) / Limiting

Ifg a7 i@ 9 pF 31X 18 pF 1 FRT s@en & &, ar Fel @il ... graf|

Two capacitors of capacitance 9 uF and 18 pF in series will have a total capacitance of

(@) 27 pF (b) 162 pF
(c) 6ur (d) 180 uF

HUTCHS YA J[0NE & | 9ok &7 AgfAs AT, gar g

The ohmic value of a resistor with negative temperature coefficient

(a) 9od BV JI9ART & GIY dedr g1 /
Increases with increasing temperature

(b) ©EF AIART F AT ToT &1 /
Increases with decreasing temperature

(c) TUAT 9Rad= & T 3YRafdd w@ar &1 /
Stays unchanged with temperature change

(d) ¥ed amAE F ary ot 3alafda war &1/

Stays unaffected even with increasing temperature

ST & A A & gfaiues B Sl dg & sAeR A I3 o § A sifean
ORI ... & FETA ¥ vared & §

When two unequal values of resistors are connected in parallel across a dc source, greater current
flows through the

(@) 3Td 9fAAY / Higher resistance
(b) Too=T UTARTY / Lower resistance
(¢) 3T daTgel UTRIT / Higher wattage resistance
(d) Too=T arest Ufaer / Lower wattage resistance
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20.

21.

22.

23.

24.

Y AT AT T B

A wire gauge indicate

(@) TR &7 F&OS / Length of a wire

(b) TARR 1 I &7 / Cross sectional area of a wirc

(c) TrY &I <ATH / Diameter of a wire

(d) helel HITIE T VeI / Thickness of insulation of a cable

100Hz 9 Fa1gel &1 Sfderd 20 31 &, af 1kHz 9 ST ... gl

The reactance of a coil at 100Hz is 20 ohms. Its reactance at 1kHz would be

(a) 2 (b) 10
(c) 40 (d) 200

AT Sl IET - F efRig 7 oy

Rating of a battery is usually expressed in

(@) d@re-g¢ / watt-hour

(b) aﬁr / joule

(c) TARURR-GE / ampere-hour
(d) VAR / amperes

9 FR IR ST R R A TG - H forar amar &1

Air core and ferrite core inductors are used in

(a) ﬁag?r 3-1T9\ﬁ foreex 9T / power supply filter circuits
(b) sEUT 3113‘_%[ GRTY / audio frequency circuits

(c) 3== 3'1171%[ g9 / high frequency circuits

(d) forosT o fheet / low pass filters

SATHIT CH HE FHT rms AT ............. wIolT 39l AT & R
The rms value of a sinusoidal ac current is equal to its value at an angle of
(a) 60deg (b) 45 deg
(c) 30deg (d) 90deg
8
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25. 50ms @ AT A TE AT 10ms 8, ar T qH - ¥

A certain pulse measures 10ms and has a period of 50ms. The duty cycle is

(@) 5% (b)  10%
(©) 20% ’ (dy  50%

26. TEAHR # REe dcg &7 91 ¥

Which is the control ¢lement in an SCR?

(@) USAIST/ Anode (b)  HUIF/ Cathode
(c) AT/ Gate (d) T35 /Grid

27. 9RNE HIZ F 3R fhaa 9 ufa g=ar g &

BCD code has always how many bits per number

(@ 2 (b) 4
(c) 8 (d) 16

28.%@%#@%?%%@%%%3?#@%@3&%%%
IM3eye o HRF g £

A Circuit that operates in such a way that its output is high when all its inputs are high

(@ OR (b) NAND
(c) NOR (d) AND

29. 0111 =7 gfqamarlr gwar Far |
What binary number follows 01117

(@) 1010 (b) 1000
© 1111 (dy 1110

30. He-fega i Rufy ¥ g Rl & aRads & ... % T &1

It converts a non-electrical physical quantity te an electrical quantity?

(a) 9RGdF / Converter (b)  3idTAF / Inverter
(c) QTQ:TSZI@T / Transducer (d) HHF / Compiler
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31.

32.

30T F, JOT-HIFSER H GIR oo Jo & T S &

In an op-amp, the use of negative feedback increases

(a) 3ﬂ"ccf_ﬁ3?-|' EE R %T:Ij’ / the frequency response
(b) yadel & Taidea %?Jf / stability of amplification
(c) <&y / gain

(d) 3"Cl'<’:§l=?=l~?r H ¥ IS T8 / none of the above

afaT aftgy, St aEs 39 e # F@ERR 99 G 7§ ofiefda = & v @ g,

An oscillator circuit which is meant for converting sine wave signal into square wave signal is

called a

(a) THfAT TIR / Schmitt trigger
(b) @RI EIfelT / blocking oscillator

(c) EIEEEFF / multivibrator
(d) a7 fo<T qiferT / Wein bridge oscillator

The main purpose of modulation is to

(a) Tafees smgfeaat & ar oRai &1 TArei /
combine two waves of different frequencies

(b) @S aLIT W JGATHT YICT FAT /
achieve waveshaping of the carrier wave

(c) Tora 3mafea gaem & ofdl gl aare H AT e /
transmit low frequency informatior over long distances efficiently

(d) TTS=EEl BN FH FEAT /

reduce sidebands

10
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34.

35.

36.

37.

CaRs Jo7 (ST e & gaifRa ¥

Twisted pair cable consists of

(@) 4 3l / 4 conductors
(b) 1 d9TeT® / 1 conductor
(c) 2 =mTelsh /2 conductors

(d) 3‘1’41% # & *I$ T / None of the above

ST eel, YT & 37 & Roerer & Faia =ar &,

Cables that transmits signals in form of light is

(@) 3IAaTIE / Unwired

(b) Fl?:l; WehreiIar el / Fiber optic cable
(c) HRIFTIT FHaeT / Coaxial cable

(dy chRws gIx FTel / Twisted pair cable

r=Er) o T FIISTT &

Megger is a combination of

(@) A AR FNRET / Motor and generator

(b) AT AR A / Generator and voltmeter
(c) SieRex 3R ST / Generator and ammeter
(d) ST 3R HIEATAT / Generator and ohmmeter

Hﬁqﬁaﬁhﬂaaﬁé@ﬁaﬁmﬂﬁﬁqﬂﬁﬁmm%@%mﬁ#mmﬁ?w

UINT AT S ar B

Which of the following transformer is used to convert unbalanced signal to balanced signal?

(a) Wmﬁ? ! Isolation transformer

(b) FaETierd TBIFAR / Auto transformer

(c) ST / Balun

(d) HdErr 2eg ZTIERIHET / Center tapped transformer

11
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38. 3F=w gfed W AR H GO - Tl ¥l

What increases the resistance of wire at high frequencies?

(@) dMHHATA / Temperature
(b) dleesT/ Voltage

(c) <IOT IHT / Skin effect
(d) eI/ Insulation

39. uﬁwﬁam%gwmwmmﬁammmﬁﬁmm%l

What is the reason why a common collector is used for impedance matching?

(a) 3HHT I3eye Yiderar Sga Hfaw gt Fl /
Its output impedance is very high
(b) SHSN 313eqe fdeTer dgd FA gl ol /

Its output impedance is very low

(c) FHH gAYC wfcsrer dgd TR e 1 /

Its input impedarnce is very high

(d) FEH eTge wfarar sga A e &l /

Its input impedance is very low

40. qoi-aer afeiess 1 gemget amgfed ... el
The ripple frequency of the Full-wave rectifier will be

(@) %9 3-113‘:%[ Fr a?ﬁ / Twice the input frequency

(b) ZYUC 3-]17{%[ @t HTER / One half of the input frequency

(c) %=T4IT 3-]1'q:'ﬁ-?|' I ﬂ'l??_'lf-ﬁ / Four times of the input frequency
(d) 3=1qc Jmgfea HI THGIATS / One fourth of the input frequency

41. IfE TFdr amatis i FT wiitg 100 & o 3H&HT db Wit &l

If an amplifier has a power gain of 100, then its db gain is

(@ 10 (b) 40
() 20 (d) 100

12 Post Code No. 12
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42, ZAH O HIF-UT TASST HERT YT St wdr B

Which one of the following LED emits an invisible light?

(a) oS UelSar / Laser LED

(b) EfAWN TS / Bicolour LED
{(c) 3EYad Tolss! / Infra-red LED
(d) fAT weEr / Tricolor LED

43. Tndl 315 & AW &7 F 5T 3Fweor 2 §

In the forward region of its characteristic, a diode appears as

(a) HT®-F¥FE / an OFF switch
(b) 3I=T yfaRe / a high resistance
(c) W / a capacitor

(d) 3TTeT-F&a=r / an ON switch

44, FAR IRAY F wATHF FF T

The primary function of a clamper circuit is to

(a) THeTeTer alges & 3T ¥ e / suppress variations in signal voltage

(b) THITST &I UATcHS 3TET TH SIGlell / raise positive half cycle of the signal

(c) o= &1 FOTcH JITT Tsh SHH HLT / lower negative half eycle of the signal
(d) wdr v F 3R A9 FT 9AT / introduce a de level into an ac signal

45, Fthmﬁsz@ma@&rm-aﬁ%ﬁasﬁmméﬂﬂémmﬂm
[ G — g AT &l

Speaker used in Hi-Fi audio system for responding audio frequencies below 1kHz is called

(@) d®T / woofer

(b) TIAET / tweeter '
(c) TR / squawker

(d) §FEX / booster

13 Post Code No. 12



Rl

—— aFhirgs 4y (Sdaciima #AFfA®F) / TECHNICIAN ‘B’
(ELECTRONIC MECHANIC)

) 4 T erasT 3iafeT $E A/ SATISH DHAWAN SPACE CENTRE SHAR SET

46.

47.

48.

49.

50.

foreeT 3 A Fle-ar RF Agfod-aier 1 fE-amgfad & &l

Which of the following demodulates an RF modulated wave?

(@) 3RUY UFT /RF amp

(b) 3STER UFT /IF amp
(c) THeFET / Mixer
(d) Wtjﬂ'q? / Detector

ey oftgy oX afE 12v Rar Srar € ar 784 WUd AT §, UR9Y A OURT yae &=
el

If 12V are applied to a circuit that consumes 78 Watt, what is the current flow through circuit

(@) 6.5A (b)  0.65A
(c) 65mA (d) 124

Op-amp &g HITARIN g1 AMfeT!
CMRR for an Op-amp should be

(a) THAT: HTUhdIH / As large as possible
(b) w=H & JHIH / Close to zero

() T« & HHUT / Close to unity

(d) gHaII: #qeAdH / As small as possible

Pl Srereet & 500KHZ g9 a<eT URIT Stel §, af 3ades FT glal A v

When observing a S00KHZ square wave with an oscilloscope, what period would you expect to
see?

(a) Sus (b)  200us
(¢) 2ps (d)  500us

eafd oo @ Ry i F aRafdd F ara TS H;AH oo gl

What is the name of a device that converts sound waves to electrical waves?

(@) qaye / an amplifier . (b) WCAT /an antenna
(c) TeeX /afilter (d) HTSHIWIA /amicrophone
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10.

11.

amﬁwqmwmawmmé?waﬁmm STEr fafder seaw RFeT (a), (), (0
AT (d) Y EET 3 /U & 3w % / Each objective question is provided with a text
and/or ﬁgures wherever applicable with multiple answer choices (a), (b), (¢) and (d). Only

one of them 1s correct.
mmamwﬁcmmﬁﬁtmﬁqélmﬁﬁaﬁﬁmﬁﬁmw
mmaﬁawﬁmﬁaam;hﬁmmmmmwé’rmaﬁ/madthe

instructions on the OMR sheet carefully. Use only Blue or Black Ball Point Pen for
writing on OMR sheet and marking your answers.

mﬁmﬁwm%mﬁ%u@rméﬁmﬂsﬁamm BE 3ol o &7 W YeT AT
T 3caX U UF 3i% T o [ All objective type questions carry equal marks of
THREE for a correct answer, ZERO for no answer and minus ONE for a wrong answer.

T T & fAfaw Ieawi 1 IFd 3ol AT STeen|
Multiple answers for a question will be regarded as a wrong answer.

ma%%mﬁ*MmﬁAmBmcmnmEﬁﬁﬁamw% ST
ﬁmmemﬁmmmwmﬁ(mﬁ)ﬁ%ﬁmmﬁaﬁ%lﬁmamw
Sea{ GREeT &l St &7 @ Sl / Question booklets have been marked with A or B or C

or D or E on the right hand top corner, which is mandatory to be written on the OMR sheet
in the box and bubble appropnately, failing which, the answer sheet will not be evaluated.

aRE g W T B &g o T a0 R wie FSH R AR §1 o FFE
ofie & & Swel / Space available in the booklet could be used for rough work, if required.
No separate sheet will be provided. '

a’rmam%ﬁvaﬁzﬁmwz@a 3T 9T NGAT FHT T 941G o1 Dl 3T e 9=
g H dUT 95 H FT5T 79T & &Y GHS &1 / Do not waste time on questions, which are

too difficult for you. You can go on to other questions and come back to the difficult ones
later.

v&mé:wca@ﬁwmmﬁﬁrmgwﬁﬁaqﬂmmﬁaﬁuwu)mﬁwm
qmﬁﬂﬁﬁmaawﬁwhsﬁgmm#arwzﬁsﬁmﬂamlmtheendof

the test (1) Written test call Letter(s) with photograph pasted on it and (2) OMR
Answer Sheet shall be returned to the invigilator and shall not be carried by the
candidate under any circumstances.

ST IGT0T & §rT AT uee #F iE @l an, 3sh fyaver & wener g/ In case of any doubt
in any question between the language versions, English version will prevail.

ok ok
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